The Time Factor and Lebanese Politics versus this Same Time Factor and American Foreign Politics: How It Can be Used for Better Results in Favor of The US and It’s Allies?-AnnexV

In this short text entitled Annex IV-Corrections on face book web site of Riad Al Asaad, I am going to carry some corrections on errors that appeared in my Annex IV of my Center equivalent to the content of the a articles on this face book site of august-25-2009
and august-30-2009 also of this face book web site of Riad Al Assad. 

This line of Aug-29-2009: 
USA/Some rising countries = 3 x 14,205/15771 = 2.7
Now 2.7 / av of 3+4+4+6X3 = 2.7/ 3.2 = 0.84 papse of 50 years = 0.84 X 50 = 42.19 years!

Should be replaced by: 

USA/Some rising countries = 3 x 14,205/15771 = 2.7
Now 2.7 / av of 3+4+4+6X3 = 2.7/ 3.2 = 0.84 lapse of one year = 0.84 X 1year = 0.84 x 12 months = 10 months!

The reason is that we can't say that the lapse is 50 years here since the GDP used are for just one year and that of 2008. 
Better accurate results should be carried on 50 years through accumulation and this if someone possesses the GDP worldwide from 1960-2011, and I myself don't have them, however my calculations are just for illustrative and instructive purposes.

Therefore the 10 months of convergence should be from the end of the 2008 fiscal year which was on end of March 2009. Therefore, the critical time of convergence will be end month 3 + 10 months from it = end of January 2010! 

Great! This is not yet! 

The study should be based on this essential accumulation method to find the satisfaction index that I prefer to call also the "C" 's or "C" values of some countries with respect to others as was done above whereby we came with 10 months.

Rising Countries= CUMULATED SUM (over 50 yrs) of selected 22 countries = [22 countries GDP X C for 10 yrs] 
USA= CUMULATED SUM (over 50 yrs) of USA = [USA GDP X C for 10 yrs] 

USA/Rising Countries = Av C (50 yrs) of USA x [CUM.SUM.GDP of USA] /[CUM.SUM.GDP of 22 Rising Countries] = C of 22 rising countries relative to C USA, the whole over 50 yrs of study period.

Relative C obtained/C av of 22 countries over 50 yrs = number of lapses of 50 yrs from 1960!

This last cumulated method is more accurate; however, one should have accurate C values over 50 years of many samples to give the results optimum accuracy. Statistics was based on the research of Annex I of Aug-25-2009.



Thank You All,
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